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Justify — Pap

er 1- Exemplar 1 (1BS01) Question 6(c)

In order to increase the number of desserts that can be produced to meet the extra
demand, Last Course Patisserie is considering two options:
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Option 1: investing in new machinery

Option 2: employing more staff.
(c) Justify which one of these two options Last Course Patisserie should choose.
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Commentary:

There are a number of approaches to the ‘Justify’ question, and this candidate has chosen to pick
one option, and then consider the strengths and weaknesses of this option before arriving at a
justified conclusion. Importantly, there is no ‘right or wrong’ answer with Justify questions; their
purpose is to allow candidates to structure an argument that is based in the particular context of
the question. In this case, the context is a dessert manufacturer, Last Course Patisserie.

The candidate chooses Option 1 - to invest in new machinery. They use appropriate terminology
throughout the response, for example, by making the initial point that this will lead to increased
productivity. They develop this point through linked strands of development, and also attempt to
contextualise the points (context shown by the blue boxes).

The candidate then offers a second paragraph which deals with the disadvantages of Option 1.
Once again there is some attempt at contextualisation and some terminology is used. The final
paragraph offers a conclusion which weighs up the extent to which Option 1 would be best for
Last Course Patisserie.

Over the full response the candidate has generated 5 logical linked strands and as a result they
secure Level 3 for A03a or ‘Analysis’. Evaluation (AO3b) is also provided and is enough to secure
Level 3. Application is present but is not quite strong enough for Level 3. The candidate makes
some reference to the ‘cake business’ but there were opportunities to further embed the
response in the context of this particular business/market. Level 2 was awarded for AO2.
Therefore, the candidate also scores Level 3 for AO3a and AO3b, and Level 2 for AO2. Using the
best fit approach this means the final mark is Level 3 - 8 marks.
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Justify — Paper 1 - Exemplar 2 (1BS01)

In order to increase the number of desserts that can be produced to meet the extra
demand, Last Course Patisserie is considering two options:

Option 1: investing in new machinery

Option 2: employing more staff.

(c) Justify which one of these two options Last Course Patisserie should choose.
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Commentary:

This candidate chooses the same approach as the candidate in Exemplar 1.The candidate chooses
Option 1 - to invest in new machinery. They use appropriate terminology throughout the
response, for example, by making the initial point that this will lead to increased efficiency for the
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business. They develop this point through linked strands of development, and also attempt to
contextualise the points (context shown by the blue boxes).

The candidate then offers a second paragraph which deals with the disadvantages of Option 1.
Once again there is some attempt at contextualisation and some terminology is used. The final
paragraph offers a conclusion which weighs up the extent to which Option 1 would be best for
Last Course Patisserie. The conclusion is balanced by considering the timescale, namely the
possible effects in the short term.

Over the full response the candidate has generated 5 logical linked strands and as a result they
secure Level 3 for A03a or ‘Analysis’. Evaluation (AO3b) is also provided and is enough to secure
Level 3. Application is present and is strong enough for Level 3. Therefore, the candidate scores
Level 3 for AO2, AO3a and AO3b which means a final mark of Level 3 - 9 marks.
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Justify — Paper 1 - Exemplar 3 (1BS01)

To pay for the conversion of the premises, Aphrodite is considering two options:
Option 1: obtaining a bank loan

Option 2: crowd funding.

(d) Justify which one of these two options Aphrodite should choose.
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Commentary:

This response is to Question 7d on Paper 1 and is based on the Aphrodite case study. This

candidate chooses Option 1 - ‘obtaining a bank loan’ - as the best method for the business to fund

its expansion. They provide some contextualisation by using data from the case study -
rates being just 0.25% in the UK. From the initial point they provide some valid linked strands of

development.
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The candidate then offers a second paragraph which deals with the disadvantages of Option 1.
There is an attempt at contextualisation, but this is simplistic and does not go far beyond
reference to ‘clothing shop’, although there is a reference to a product Aphrodite sells.

Over the full response the candidate has generated 4 logical linked strands and as a result they
secure Level 2 for AO3a or ‘Analysis’. Evaluation (AO3b) is also provided in the form of a final
conclusion, but this is at a simple level and cannot proceed beyond Level 2. Application is present
throughout the response and was sufficient for Level 2. Therefore, the candidate scores Level 2
for AO2, AO3a and AO3b which means a final mark of Level 2 - 6 marks.
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Justify - Paper 2 - Exemplar 4 (1BS02)

In order to improve the motivation of its shop floor employees, Sainsbury’s is
considering two options:

Option 1: retraining
Option 2: increase wages.

(d) Justify which one of these two options Sainsbury’s should choose. ©)
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Commentary:

This response is to Question 7d on Paper 2 and is based on the Sainsbury’s case study. This
candidate chooses Option 2 - ‘increase wages - as the best method for the business to fund its
expansion. They provide some simple contextualisation by using data from the case study by
referring to a competitor of Sainsbury’s, Aldi. From the initial point they provide some valid linked
strands of development.

Note how the candidate then drifts from the question by considering the benefits to Sainsbury’s of
increasing wages, rather than the impact on motivation.

Another reason for using this exemplar is to show how the approach used in the second paragraph
- explaining the drawbacks of the option not chosen - is not an example of Evaluation

Over the full response the candidate has generated 2 logical linked strands and as a result they
secure Level 2 for AO3a or ‘Analysis’. Evaluation (AO3b) is not present and cannot access Level 1.
Application is present but is limied and just gets into Level 1.Therefore, the candidate scores Level
1 for AO2, Level 2 for AO3a and 0 for AO3b which means a final mark of Level 1 - 2 marks.
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Justify — Paper 2 - Exemplar 5 (1BS02)

Valid point,
but weak
initial
development
point.

In order to raise the £1.2 million of extra finance needed, Mind Candy considered
two options:

Option 1: retained profit
Option 2: share capital.
(c) Justify which one of these two options Mind Candy should choose.
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Commentary:

This response is to Question 6¢c on Paper 2 and is based on the Mind Candy case study. This
candidate chooses Option 2 - ‘share capital’ - as the best method raising finance.

The candidate offers some simple linked strands of development in constructing their response.
There are - just - 5 strands, which are sufficient to reach Level 3 for Analysis (AO3a). Application is
less strong. There is a simple reference to ‘Petlandia’, but overall application is ‘limited” and
therefore within Level 1. There is a simple conclusion, but this is a little formulaic and does not
offer much new and original insight, despite the attempt at using an ‘it depends’ approach.

Therefore, the candidate scores Level 1 for AO2, Level 3 for AO3a and Level 1 AO3b, which means,
using the best fit approach, a final mark of Level 2 - 4 marks.
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Justify — Paper 2 -Exemplar 6 (1BS02)
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Commentary:

The first, and obvious, observation with this response is that it is very long. Excessively so, in fact,
with some repetition that must have cost the candidate time later in the paper. Nonetheless, this
is a good response with valid points based on the chosen option, and with effective balance and
Evaluation.

Over the full response the candidate has generated 5 logical linked strands and as a result they
secure Level 2 for AO3a or ‘Analysis’. Evaluation (AO3b) is also provided in the form of a final
conclusion as well as in considering the drawbacks of the chosen option. Application is present but
is a little formulaic, with simple references to ‘gaming company’, etc. However, this was just
about strong enough for Level 3. Therefore, the candidate scores Level 3 for AO2, AO3a and AO3b
which means a final mark of Level 3 - 9 marks.
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